BEETHEEGE ALNR

BF
34100m 11”3 HHA #£& ( & % ) THSE AE
24E£100m 1177 5HA #£& ( & % ) THSE AE
1£100m 1274 15H B ( B XK ) ¥HSE A
#3%1500m 4’34”72 Kl B0 ( ®BE ) FH4FE A=
HiEEE B 5m61 H5 £1E ( HEE ) SM3E BEE
@ik 12m81 & MR (BEEEB ) TH4E AE
$hoE A A% 30m02 f&M H_H ( BEm ) #F3&F @

TF
34100m 1374 RXIR BER ( B ) fH4E AE
24£100m 1372 ML fEE (REJIXKK) SHSFE AR
14100m 1377 KN ER ( § & ) THF A=
$£3E800m 2’2774 EA IDTE ( B & ) SWE A=
$£5&1500m 459”7 Pk FHE ( K # ) FHE BE
3@ TE 0 Bk 4m89 Fi P IE-/N ( B & ) vM4E BE
@t % 9m52 B e ( 18 B ) #f4FE BEE

HEMARER 24m97 BN BF ( E WK ) FH4E A



